Efron-Stein and McDiarmid Inequalities

SO FAR

- Markov, Chebysher & Chernoff
- Subgaussian l Subexponential (Exponential) tall bounds on X l \(\frac{\gamma}{i=1} \alpha : \chi|

Tail bounds on functions of (x, -- xn) iid

- 1 Langest eigenvalue of a nandom matrix
- 10 Max dignu et a nandom gnaph

Suppose $X_1 - X_n$ $Z = g(X_1 - X_n)$ $Z_1 = \mathbb{E}[Z|X_1 - X_1]$ $Z_2 = \mathbb{E}[Z|X_1 - X_1]$ $Z_3 = \mathbb{E}[Z|X_1 - X_1]$ $Z_4 = \mathbb{E}[Z|X_1 - X_1]$ $Z_4 = \mathbb{E}[Z|X_1 - X_1]$

$$Z_0 = E_g(x_1 - x_n)^2 EZ$$

 $Z_1 = Z_2 g(x_1 - x_n)$
 $Var(g(x_1 - x_n))^2 E[(z_n - z_0)^2]$

$$Z_{n}-Z_{0} = \sum_{i=1}^{n} Z_{i}-Z_{i-1}$$

$$Van(Z) = \mathbb{E}\left[\left(\sum_{i=1}^{n} (Z_{i}-Z_{i-1})\right)^{2}\right]$$

$$= \mathbb{E}\left[\left(\sum_{i=1}^{n} \Delta_{i}\right)^{2}\right]$$

$$= \mathbb{E}\left[\sum_{i=1}^{n} \Delta_{i}^{2} + 2\sum_{i=1}^{n} \sum_{j=i+1}^{n} \Delta_{i} \Delta_{j}\right] - 0$$

$$Z_{i-1} = \mathbb{E}_{X_i-X_n}[Z] = \mathbb{E}_{X_i} \mathbb{E}_{X_{i+1}-X_n}[Z]$$

$$= \mathbb{E}_{X_i} Z_i$$

$$= \mathbb{E}_{X_i} Z_i$$

$$= \mathbb{E}_{X_i} \{(X^n) - \mathbb{E}_{X_i} \{(X^n) -$$

From (1)

Van(2) = IE [5 4?] $\sum_{i=1}^{n} Van(\Delta_i)$ -> true even

for non iid X,-Xn

 $Z_1 - Z_n$ $(X_1 - X_n)$ $E[Z_{i+1}|X_1 - X_i] = Z_i$ Y_i ,

we say that $Z_1 - Z_n$ is a mantingale want $X_1 - X_n$

Theorem (Efron-Stein inequality) If X, -- Xn independent & hove bold vormanu 8:4-1 R 2-9(X,--Xn) $Van(z) \leq \sum_{i=1}^{n} \mathbb{E}(z - \mathbb{E}_{x_i} z)^2 = \sum_{i=1}^{n} \mathbb{E}_{x_i} \{(x^n) - \mathbb{E}_{x_i} \}$ Y; ~ Z - 1Ex; Z 2 2 Nan(Yi) 2; = g(X, -- X; , X; , X; , X; , X; , Xn) huplau X: w:th
an lid copy

$$Van(2) \leq \frac{1}{2} \sum_{i=1}^{n} \mathbb{E}(2-2i)^{2}$$

$$\leq \frac{1}{2} \sum_{i=1}^{n} \mathbb{E}(2-2i)^{2} \left[\alpha\right]_{+2}^{2}$$

$$= \frac{1}{2} \sum_{i=1}^{n} \mathbb{E}(2-2i)^{2} \left[\alpha\right]_{-2}^{2}$$

$$= \frac{1}{2} \sum_{i=1}^{n} \mathbb{E}(2-2i)^{2}$$

$$= \frac{1}{2} \sum_{i=1}^{n} \mathbb{E}(2-2i)^{2}$$

$$\frac{n}{\sum_{i=1}^{n} \inf \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right]} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left\{ \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \right\} \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \\
= \lim_{i \to \infty} \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right] \left[\left(\frac{1}{2} - U_{i} \right)^{2} \right]$$

Suppose $|g(x_1 - x_n) - g(x_1 - x_{i-1}, x_i', x_{i+1} - x_n)| \le C_i$ $|Van(z)| = |Van(g(x_n)|) \le \frac{1}{2} \sum_{i=1}^{n} c_i^2$

Proof of Edvan-Stein inequality

$$Van(Z) = \sum_{i=1}^{n} E \Delta_{i}^{2} = \sum_{i=1}^{n} E_{xn}(g|x^{n}) - E_{x}g|x^{n})$$

$$\Delta_{i} = E_{x}g(x^{n}) - E_{x}g(x^{n})$$

$$E_{x}g(x^{n}) - E_{x}g(x^{n})$$

$$Vor(g(x^n)) \leq \sum_{i=1}^n \mathbb{E}_{x^n} (g(x^n) - \mathbb{E}_{x^n} g(x^n))^2$$

$$Z_i^{i} \geq g(x_i - - x_{i-1}, x_i^i, x_{i-1} - x_n)$$

$$Uor(g(x^n)) \leq \sum_{i=1}^n \mathbb{E}_{x^n} (g(x^n) - \mathbb{E}_{x^n} g(x^n))^2$$

$$Z_i^{i} \geq g(x_i - - x_{i-1}, x_i^i, x_{i-1} - x_n)$$

$$Uor(g(x^n)) \leq \sum_{i=1}^n \mathbb{E}_{x^n} (g(x^n) - \mathbb{E}_{x^n} g(x^n))^2$$

CI: Conditioned on
$$z, z_i'$$
 are iid $x_i \cdot x_{i-1}, x_{i+1} \cdot x_n'$

$$\mathbb{E}_{x_i \cdot x_i'} \left(z_i - z_i' \right)^2 = 2 \mathbb{E}_{x_i} \left(z_i - (\mathbb{E}_{x_i}^z) \right)^1$$

Claim: XfYiid Vor(X) = LtE(X-4)2

If
$$C_1$$
 in time,

Var(z) $\in \frac{1}{2}$ $\sum_{i=1}^{n} \mathbb{E}_{X^n,X_i^i} (z-z_i^i)^2$

Phoof of daim:

 $\frac{1}{2} \mathbb{E}(X-\mathbb{E}X) - (Y-\mathbb{E}Y)^2$
 $\frac{1}{2} \mathbb{E}(X-\mathbb{E}X)^2 + \mathbb{E}(Y-\mathbb{E}Y)^2$
 $\frac{1}{2} \mathbb{E}[(X-\mathbb{E}X)(Y-\mathbb{E}Y)]$

2 Vanlx)

il X L y ar iid, Show that HW! $\frac{1}{2} \mathbb{E}(X-Y)^2 = \mathbb{E}(X-Y) +$ $z = \mathbb{E}\left(\left(X-Y\right)_{-}\right)^{2}$ $(X-Y)_{+}$ = max $f(X-Y)_{,}$ of

 $(X-Y)_{+} = \max_{X-Y} \{(X-Y)_{,0}\}$ $(X-Y)_{-} = \min_{X-Y} \{(X-Y)_{,0}\}$

Bin packing problem Emample: 0.4, 0.3, 0.6, 0.5 $X_1 - - X_n$ iid $X_i \in [0, 1]$ Goal: pack x, -- x, into min # bing.

[lach bin has size = 1) g(x, -xn) = min # bin required Changing n: can change glm. - x, 1 by at most 1 $Var(g(X,-X_n)) \leq y$

Longest common subsequence Enlample >: xⁿ = necent yn 2 excellent alx, yn) = lingth of longust common Subsequence Xr, yn iid (Eglx, 4m) is conjectured $\frac{2}{1+\sqrt{2}}$ por Bur(+) $Var(g(x^{n}, y^{n})) \leq \underline{n}$

Pn $\int |g(x^n, y^n)| = |Eg(x^n, y^n)| > \delta |Eg(x^n, y^n)|$ $\geq |Volly| > \frac{2}{\delta^2 (Eg)^2} = \frac{2}{\delta^2 (Cn)^2}$

McDianmid's inequality $\exists i_1 \times \dots \times x_n$ or independent $g: \mathcal{X} \to \mathbb{R}$ $|g(x_1,\dots,x_n) - g(x_1,\dots,x_n'; x_{i+1},\dots,x_n')| \leq C_i$ $\forall x_1,\dots,x_n'$ Pn $\left| g(x^n) - Eg(x^n) \right| > t$ $\leq e^{-2t^2/\frac{n}{2}} c^2$ In fact suppose $\sum_{i \geq 1} (2-2i)^2 \leq N^2 \quad \text{with problem}$ Pn[1g(x^)-1Eg(x^)]>t] = e-t2/102

kund density unimotion

$$X_1 - X_1 \sim iid f_X$$
 $X_1 - X_1 \sim iid f_X$
 $X_1 \sim X_1 \sim iid f_X$

formon $z = \int |f_{\chi}(y) - \varphi_{\eta}(y)| dy$

-00

5 k(x) dN = 1 -0 K(x) = 0

$$\int_{-\infty}^{\infty} \left| \frac{\varphi_{n}'(x) - \varphi_{n}(x)}{\varphi_{n}(x) - \varphi_{n}(x)} \right| dx$$

$$= \int_{-\infty}^{\infty} \left| \frac{1}{h_{n}} \left(\frac{k(x-n)}{h_{n}} - \frac{k(x-n)}{h_{n}} \right) \right| dx$$

$$= \int_{-\infty}^{\infty} \frac{1}{h_{n}} \left(\frac{k(x-n)}{h_{n}} + \frac{k(x-n)}{h_{n}} \right) dx$$

$$= \int_{-\infty}^{\infty} \frac{1}{h_{n}} \left(\frac{k(y)}{h_{n}} + \frac{k(y)}{h_{n}} \right) dy = \frac{dx}{h_{n}}$$

$$= \int_{-\infty}^{\infty} \frac{1}{h_{n}} \left(\frac{k(y)}{h_{n}} + \frac{k(y)}{h_{n}} \right) dy = \frac{2}{n}$$

Finon =
$$\int_{-\infty}^{\infty} |f_{x}(n) - \phi_{n}(n)| dn \leq \int_{-\infty}^{\infty} (f_{x}(n) + \phi_{n}(n)) dn$$

$$\leq 2$$
Euron ≤ 2

$$Van(unon) \leq \frac{1}{4} \times \sum_{i=1}^{n} c_{i}^{2} \leq \frac{1}{n}$$

$$\operatorname{Prof}_{i} \text{ Eronon } \geq \operatorname{Euron}_{i} \left(1+\delta\right) \leq \frac{1}{\delta^{2}n}$$

$$e^{3h}$$

Empirical Risk Minimization Classification l'is object prusent XEX Y & L (1, -1) $(X,Y) \sim p_{XY}$ 9! H > h1, -13 Classifier Good: Design Pn g(x) x y J -> nisk jon dassifier g

Rg (E (rish) 2 it Light) 74) . What q minimizes Rg? Suppose that we knew pxy gx(n) = angmox Prix (yln) (MAP ythi,-ij wimate) But we do not have pxy Dotaset: (X, Y,) (X, Y) (Xn, Yn) ~ iid (Pxy)

 $\frac{1}{m} \geq \frac{1}{1} \int_{\{i\}} \int_{\{i\}} |x_i|^2 + |x_i|^2$ $R_n(g)$ empirical Inaction of time prudiction is wrong ruse Empirical nisk mestagionsmim In = argmin R_n (g) = | E 2/g(x) Ey} - Rn(g) 1 What $-\int_{n}^{\infty} \frac{1}{2\pi} \int_{n}^{\infty} 1_{\eta(x_{i}) \neq j}$ Can we Say about $\mathbb{E} R_n(g) = R(g)$

$$R_{n}(g) = \frac{1}{n} \sum_{i=1}^{n} 1_{n} g(x_{i}) \neq y_{i}$$

$$R(g) = \mathbb{E}_{x,y} 1_{n} g(x_{i}) \neq y_{i}$$

$$P_{n}(g(x_{i}) \neq y_{i})$$

$$P_{n}(g(x_{i}) = R(g) | 2 \in \mathbb{E}^{2n} R(g)$$

$$P_{n}(g(x_{i}) = R(g) | 2 \in \mathbb$$

Toy example . (X, Y_n) - $(X_n Y_n)$ y = 1 g, , g-, y $\frac{g(n)}{2} = 1 \qquad \forall n$ $P(Yz1) = \alpha \qquad P(Yz-1) = 1-\alpha$ = 1/9(x) 7 7; } Binin, 1-as il 829 Bin(n,a) if g=g-1 9 69,8-10 i= 18(x;) 74; 5 mind # 8 1'1,
(-1)0 y

ing Rlg)

Rnlg) =
$$\frac{1}{m} \sum_{i=1}^{m} 2ig(x;i\neq y_i)$$

gn = angmin Rnlg)

g* = angmin Rn[g(x) $\neq y$] = R1

R* = angmin Pn[g(x) $\neq y$]

Observables: x^{2} , y^{n} gn $R_{n}(g_{n})$

Performance of gn on a (new) test sample: Pn[gn(x) 74] = R(gn) |Rn(gn) - R(gn) | R(g) - R(g*)

(test)

min (test) mish

all dassified in y

com for g from ERM $R(g_n) - R(g^p)$ is small what is min n or $R(g_n) \approx R(g^p)$ Good: ST OK 1 whp

We know : for a given gty Pn[|R(g) - R(g)| > ER(g)] 2 e-en 22 for any s R(g) = Rnlg) + Rlg) - Rnlg) Rn(g) + sup (Rlg) - Rn(g)) Pr/ sup (R(g) - Rn(g)) > E) Want: 2 2 pn/ R(g) - Rn(g) > E] 2 |g| e-nce2

Theorum: Ty y is finite,

Port Rig = Rnig + 2 | login + log 2/5 | = 5

$$Pn[Rn(g) > R(g^*) + 2[log(g) + log^2/5] < 5$$

What If y is infinite

$$\eta_g(x_i, y_i) = 1_{\{g(x_i) \neq y_i\}}$$

$$\mathcal{F}_{x^n,y^n} = \left(\left(\eta_g(x,y) - \eta_g(x_n y_n) \right) : g \in \mathcal{F} \right)$$

For given y
Growth function: Sy = sup Fry, J. Measures how
diverse y is

Theorem (Vapnik - Cherronentis)

Pr(Rig) > Rn(g) + $2\sqrt{2\log S_g(2n) + \log \frac{2}{5}}$ for any $g \in g$ $\sum_{n=1}^{\infty} S_n(2n) + \sum_{n=1}^{\infty} S_n(2n) + \sum_{n=1}^{\infty}$

" Introduction to Statistical Learning Theory"
Yapnik, SLT

